pi]

VeGA VE241

rv. 2022
v-garden




No. ID Zbozi Nazev No. ID Zbozi Nazev

1 |50VE241A010001 spanner 51 |50VE241D010012 motor housing A
2 |50VE241A010101 rope wheel covering 52 |50VE241B100013 switch

3 |50VE241F0704 nylon rope @2 53 |50VE241B100008 wire holder

4 [50VE241A010003 nylon rope seat 54 |50VE241B100005 rubber brush

5 [50VE241A010104 pull-out piece spring 55 |50VE241ST42X14-01 |screw ST4.2X4
6 [50VE241A010005 box of rope 56 [50VE241B060021 cable plate

7 [50VE241A010006 bush 57 [50VE241B100006 cable sheath

8 |50VE241A010007 axes 58 [50VE241B100007 VDE PLUG

9 |50VE241A010012 support 59 |50VE241B720023 trigger spring
10 |50VE241MD4X06 bolt 4X6 60 |50VE241D030003 u'nlock pushbutton
11 |[50VE241ST48X16-05 [screw ST4.8X16 61 [50VE241D030002 unlock the lever
12 |50VE241F1104 heat shrink tubing 62 |50VE241D030001 trigger

13 |50VE241A010014 knife 63 [50VE241D010013 motor housing B
14 |S0VE241A010015 plastic guard shield 64 |50VE241D010017 torsional spring
15 |50VE241M6X50B screw M6X50 65 [50VE241D010018 fastener

16 [50VE241LM6-03 nut M6 66 [50VE241D010030 switch connector
17 |50VE241A010200 tube A assembly

18 |S0VE241A010016 flexible axle A

19 |50VE241A010017 knob

20 [50VE241A010018 connector tube

21 |50VE241M4X10-03 screw M4X10

22 |50VE241M6X14-01 screw M6X4

23 |50VE241D050001 flexible axle B

24 |50VE241D050100 tube B assembly

25 |50VE241A010021-1 D handle

26 [50VE241F0605 braces

28 |50VE241B120101 brush B

29 |50VE241TXYZX3-01 |spring 3X20

50VE241M4X12-04

screw M4X12

50VE241D010002

bearing cover

32 |50VE241DQZ10-01 beadl10

33 [50VE2416900-2Z bearing 6900-zz
34 [50VE241D010003 driven gear shaft
35 [50VE241HK0608 bearing HK0608
36 |50VE241M5X60-01 screw M5X60

37 |50VE241D010004 front cover el.motor
38 [50VE2416000-2Z bearing 6000-zz
39 |50VE241D040002 rotor

40 |50VE241D040003B stator

41 |50VE241608-2Z bearing 608-zz

42 |50VE241LM5-01 nut M5

43 [50VE241D010010 back cover el.motor
44 |50VE241D010011 fan

45 |50VE241DQ6B-01 brush 6

46 |50VE241D010005 carbon brush

47 |50VE241D010006 brush

48 |50VE241ST29X10-02 [screw ST2.9X10
49 |50VE241M5X14-06 screw M5X14

50VE241ST4X16-02

screw ST4X16




